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o} 1o A AABC ADEF Y W, /D + /F 9] 27]=2

A D

D 60° @ 90° @ 100° @ 110° @120°

(B = /E°|t}.
= /D + /E + /F = 180°




8. & I1™oA LADE = /ACB ¥ 1fj, AADE
} AACB 9] §3H|E FotHA?

AADE 9} AACB 9|4 /A 7} 350]1,

/ADE = /ACB 0|22

AADE 0 AACB (AA ®)

AD o] tf-g®o] AC o|B2 §-3H|=3:6=1:2 o|c}.




9. & "o A] LA = 90°, AHLBC, AH = 2, HC = 1 ¥ ©j, AABH
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@)+ @ 8 ®16 @20 O
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10. t& 2%elA BC//DE ¢ o, x 9 27
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75:5=(8+x):8
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th2ol4 AE : EB = AP : PC = DF : FC &

g uj, /APF + /EPC ©] 27]%9

® 260° @ 261° @262°
@ 263° ® 264°
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EP // BC ©|2& /APE = /ACB =33°
(EPC = 180° - 33° = 147°
AD // PF °]B& /FPC = /DAC = 55°
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- LEPC 4 /APF = 147° 4+ 115° = 262°
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AC £ o)™ AACP = ADCP
ADQP = AACQ = ABCQ = 30( cm?)
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14. ohg 93 e SHAEE ABCD oA AD, BD, BC9] 542
747} P, Q, Rolgh sk, /ABD = 30°, /BDC = 70° & o, QPR <]
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70°

® 10° @ 15° @200 @ 25° B 30°

SHA2E A 95

PQ// AB, PG = ;AB, QR // DT, QR = ;DO

/ABD = /PQD = 30° (-91%)
/BDC = /BQR = 70° (‘912})

(RQD = 110°, /PQR = 140°
SHAtE] &4 AB = DCo|E2

180" — 140°
M = 20° o]t}

LQPR = 5
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® AG:GD=2:1 @ AABD = AACD
® AABG = éAABC @ AABC = 6ABDG
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© FASAHY 44
@ BD = DC ©]22 AABD = AACD
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16. A 45HA AB.C 7Lk A, B o Zyole] vl 4:9 0] 1B, €
o Zyolel vl 1:4 A W), A, B, C ] £o] u]i=2

D1:2:3 @ 1:4:9 ® 4:9:36

@8:27:216 ® 8:216:27

Al ASHA A, B, C 2] BYlo]o HlE=4:9:36 =22:3%: 62
olB2 TeH|=9:3:60|th
wretA Hulo] Hj= 23 .33 .63 =8 : 27 : 216°]|C}.
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HYAPHAY ABCD ©lA /A, «C 9] o] =4
o] ¥ AB, CD ¢ Wtt+= H 242 E, F
2 & o, AB = 6cm, BC =4cm, ZADC =
60° ¥ i, DAECF ©] &d|9] Zo]=?

@D 10cm @12(:111 ® 1l4cm

@ 16cm ® 18cm

B

AADF, ABEC ©|4] AD = BC, DF = BE, /EBC = /ADF
o]B & SAS &50]1 pAECF & HaApA o},

/ADF = 60°, /BAD = 120°, /FAD = 60° ©|2&, /AFD =
60° 0|2

AADF, ABEC & A4zt oltt,
AE=AB-BE=6-4=2(cm) °|t}.
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tjztAoltt. /ABD, /BDC 9] o] 5H410]
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DE = 8cm ¥ W], oEBFD 9] g2
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® 30cm @)32cm ® 34cm

@ 36cm ® 38cm

B

EB//DF°|E& /EBD = (FDB©°|x AD//BColE=
(EDB = /DBF o|t}.

m2tA] AEBD £ o 5 ¥A o),
£ g Rolth
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E = BE°|2& gABCD
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20cm? ¥ o], AACF 9] Yo]=?

A D
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O 16cm? @ 18cm? @ 20cm?
@ 22cm? ® 24cm?

AB//DColB= W1} =0]7} 211, AAED = AACE©]t}.
AC //EF o]|B& 9} o|7} 211, AACF = AACE©|th.
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